 (
Q. Work out the smallest angle.
A.
2x+4x+3x=180
9x=180
x=3
2x=40
) (
3x
) (
4x
) (
2x
)



	X
	-3
	-2
	-1
	0
	1
	2
	3

	Y
	5
	0
	-3
	-4
	-3
	0
	5


 (
Y= x^2 – 4
Q. Fill in the values for y
)



Q. Draw the graph for y=x^2-4
 (
Y=2
) (
Y=x^2-4
)[image: ] 
Q. What are the points of intersection?
A. x= 2.45 x=-2.45 (With tolerance)

Q. Base for a shed is made of 55% concrete. The rest is steel. It is 3.8 cubic metres. Lorry brings loads of 6 cubic metres of concrete. How many bases can be made with 5 loads?
A. 
0.55*3.8 = 2.09
6*5 = 30
30/2.09 = 14.35
14 full bases


 (
Q. 
The shape is enlarged by a scale factor of 2. Work out the area of the new shape.
A.
Current Shape:
4*4 =16
16-4 = 12
New Shape
:
12*2^2
=
48
OR
 
Draw out new shape ->
8*8=64
64-16 = 
48
)








T= F + 180
Q. Work out A from B.
 (
55
) (
B
) (
A
)A.
T=55+180
T=235


Q. Why must F be 0<F<180?
A. F>180 would result in T being larger than 360, which is not possible.
Q. The bearing of C to D is 342. What is the bearing of D to C?
A. You have been given the formula T=F + 180. Substitute to give 342 = F + 180. Rearrange to get:
F=342-180
F=162
Consider:
 (
342
) (
C
) (
D
)




	

 (
Q. 
The diagram shows a sector of a circle with radius 8cm. AOB is an equilateral triangle. Work out the length of arc AB.
A.
Angle AOB = 60 (Equilateral Triangle)
Length of Arc
:
60/360 * 2*pi*r
60/360 * 2*pi*8
0.166    * 16pi
8.38
) (
A
) (
O
) (
B
) (
8cm
)






 (
5.2cm
)






Q. The diagram shows a square with an equilateral triangle cut out. Two of these shapes are put together as shown. Work out the perimeter of the new shape.
A. Every side of the shape is 5.2cm because:
- Square has equal sides, so every side must be the same, i.e. 5.2
- Triangle has base 5.2cm. It is an equilateral triangle; therefore all sides are 5.2cm
In the new shape, there are 8 visible sides, so:
5.2*8 = 41.6 cm^2
 (
Q. 
Work out the value of t.
A.
w+40 =
 72
 (Corresponding angles are equal
)
W=
32
Missing angle from triangle is w+40 (alternate angles are equal)
180 – (2w+w+40) = t
180 – (3w + 40) = t
180 – (96+40) = t
180 – 136 = 44
t=44
) (
W+40
)
 (
2w
) (
72
) (
t
)







 (
y
) (
x
)



The diagram shows a rectangle. The ratio of x : y is 5 : 2.
Q. Write an expression connecting x and y.
A. 2x=5y
Q. Write an expression for the perimeter of the rectangle.
A. 2x+2y
Q. Write an expression for the perimeter of the rectangle in terms of x.
A.
2x=5y
y=2/5x
y=0.4x
 (
Stage
) (
6m
) (
15m
) (
10m
)P=2x+2y
P=2x+2*(0.4x)
P=2x+0.8x
P=2.8x







Q. The diagram shows a hall with a semi-circular stage of diameter 6m. The standing area of the hall is the area of the hall minus the area of the stage.
The maximum number of people that are allowed in the hall is given by the formula:
Standing area / 0.3
Work out the maximum number of people allowed in the hall.


A. 
Area of Hall: 10m * 15m = 150m^2
Area of Stage : (pi*r^2)/2 = (pi*3^2)/2 = 9pi/2 = 4.5pi
Standing Area : Area of Hall – Area of Stage
		    150m^2    –   4.5pi
		          135.86m^2
Max people: 135.86 / 0.3 = 452.88
Max people = 452 people

Q. M is directly proportional to r^3. When M=200, r=5. What is M when r=8?
A.
M=kr^3
200=k*5^3
200=k*125
200/125=k
k=1.6
M=1.6*8^3
M=1.6*512
M=819.2
Q. What is r when M=3125?
A.
3125 = 1.6*r^3
3125/1.6=r^3
1953.125=r^3
cuberoot(1953.125)=r
r=12.5

Q. Solve the quadratic 3x^2+4x-10. Give your answer to two significant figures.
A.
x=(-4+sqrt(4^2-4*3*-10))/6
x=(-4+sqrt(16—120))/6
x=(-4+sqrt(136))/6
x=(-4+11.66)/6
x=7.66/6
x=1.28

x=(-4-sqrt(136))/6
x=(-4 – 11.66)/6
x=-15.66/6
x=-2.61
x=1.2 (2 s.f) and x=-2.6 (2 s.f)
 (
x
) (
2x+3
) (
5x+
1
)


Q. The length of the cuboid is 5x+1. The width is 2x+3. The height is x.
The length of the cuboid is 7 greater than the width.
Work out the volume of the cuboid.
A.
5x+1 = 2x+3 +7
5x+1 = 2x+10
3x=9
x=3
V=L*W*H = (5*3+1)*(2*3+3)*3
V=16*9*3
V=432
 (
B
) (
D
) (
A
) (
57
) (
43
) (
39
) (
C
)



 (
9cm
)





Q. ABCD is a quadrilateral. Work out the area of ABCD.
A.
180 – (43+39) = 98 = Angle BCD
DC : x/sin39 = 9/sin98
x=9sin39/sin98
x=5.72

Area of triangle BCD = 0.5*9*5.72*sin43=17.55cm^2


AB: sin57 = O/H
sin57 = O/9
9sin57 = O
7.55=AB
AD: 9^2 – 7.55^2 = 81 -57 = 24
AD = sqrt(24) = 4.9
Area of triangle BAD = (7.55*4.9)/2 = 18.5
Area of ABCD = Area of triangle BCD + Area of triangle BAD = 17.5 + 18.5 = 36cm^2
 (
s
) (
t
) (
Z
) (
W
) (
X
) (
Y
)





Q. The ratio of ZY:WX is 3:2. Work out ZY in terms of s.
A.
s/2 = 0.5s
0.5s*3=1.5s
Q. Work out XY in terms of s and t. Give your answer in its simplest form.
A.
XY = XW + WZ + ZY
XY =  -s   +   t    + 1.5s
XY = 0.5s + t
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